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0000000000 X*+aX3+bX24+¢X+d=0000 (00000000)00000
00.000000000000,Xx30000 00000000000,

X 4 pX2 4 gX +r=0------ (1)

00000.¢=00000 X?200000000000000000000000000,00
00,¢q#00000000.0000,()00000O0OOO:

(X2+%>2:(y—p)X2—qX+ (y;_r>

000,000 (eX+6)200000000 y00OO0O00000,000000000,
y 0000000000 (00000000000000000)
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X2+ﬂ:i¢yo——p(x—L)
2 2(yo — p)

goooooog.

00000 X*4pX24+¢X+r=0000 z,29,23,24 0000,

0 = z1+x0+23+24

P = Tix2 + X173+ X1T4 + T2X3 + TaXy + T34
—q = T12X2T3 + X1X2T4 + X1T3T4 + T2T3T4
r = I1T2x3%4

00000.0000004000 a1,29,23,24 0000 i 0000000000. 000,00
0 F = F(z1,20,23,74) 0000,000000000000000000000000,F0O0
00000.00000000000000000.000,0000

A= (1‘1 — .%'2)(1‘1 — .%'3)(.%'1 — 1‘4)(.%'2 — 1‘3)(1‘2 — .%'4)(1‘3 — 1‘4)

0000000,000 D=A?20000000.



00 12.1. 2y,...,7, 00000000000000000000 (0000000D0)0000
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f(x)=000000 G;O0n0O0O0 S,0000000.G,000 000000000
00000000l 000,X*-200000002000 Dy 000, (X2 -2)(X2—-2)0
000000000000000 (eb=be000000)000.
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0 GO000000000,¢“00000%00700000000. 000,00000000
O0000000,000000000000000000.0000,00000 450000
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